


MENTALABILITY TEST

Find the odd one out of the following:

DE9, KL23, VW40, YZ51,JK21
1) KL23 2) DE9
3) VW40 4)YZ51

How many parallelograms are there inthe 5.

given figure
1)38 2) 39
3)40 4)41

How many tiles of size 8 x 6 are required to
complete a smallest square floor without

breaking any tile?
1)12 2) 16
3)20 4)24

IfAiscodedas ‘-’ Biscodedas * +°,

Ciscodedas‘x’and Discodedas " (*
or * )’ then evaluate
18B2D8AD4B2DDA6C2

)12 2) 14
3) 16 410

In a certain code ‘786 means ‘study very
hard’, *958” means ‘hard work pays” and
‘645" means *study and work’. Which of
the following number is the code for
‘very'?

)7 2)8
3)6 4) Data Insufficient

e & 9 afe gfe-

DE9, KL23, VW40, YZ51, JK21
1)KL23 2) DE9

3) VW40 4)YZ51

feu g o= § o o w9ia 9qy & ?
1) 38 2) 39

3)40 4) 41

2rEel ®l o @S 8 x 6 W F fwa!
ZIgel Ueh o H FThR WY 1 g0 |
it ?

1)12 2)16

3)20 4)24

gfe AR - B+, CH fxa
D® (> art )’ fomn s =
WA ?

18SB2DSAD4B2DDA6C?2
1)12 2) 14
3)16 - 4)10

uw fadw Fevmm # ‘786" #1314 “study
very hard’ %, 1958" 1 1% ‘hard work
pays'¥ 3R ‘645’ &1 1Y ‘study and
work’%l?ﬂ?%ﬁﬁﬂﬁlﬁﬂﬁﬁﬂ !
frg 3% %1 314 “very’ 87

1)7 2)8

3)6 4) = Aqut 1




RS TR ir  TAL |

In a certain language CARROM is coded
as BZQQNL, which word will be coded
as HOUSE?

1) IPVTF
3) INVRF

2) GPTID
4) GNTRD

Direction (Q.7-14): Identify the rule which
governs the series of numbers/words/alpha
numerals. Replace the question mark with the

correct option from the given choices:

7.

10.

12,

2.8.18,32.50. 2

1) 60 2) 64

3)72 4)78

2.6, 11, 18,28; ?

1)32 2) 36

3) 40 4)42

125, 105, 87 1, 57 2

1)45 2)44

3)46 4)48

4,10; 22,46, 94, ?

1) 190 2) 200

3)210 4)220

4 5 8 912 13

26 114 9

2 36 7 10 11
1)236 2) 246

3) 266 4)256

ASD,EI12G C11H,?

1)DI15K 2) C6K

3) D8I 4)F10C

gfg f&dt 2 991  CARROM &t
BZQOQNL femar s @1 35 s § HOUSE

&1 F91 Torman smem 2
1)IPVTF
3) INVRF

2) GPTID
4) GNTRD

fewm 9T (Wo HWo 7-14) : 39 fAgdi =1

10.

11.

12,

YgaEIe ¥ SEgUY=l/ATd 9@ F

Harfed &Y 1@ € 37 fou g fawedi 6 @

w2 fasweq gfaui

2,8,18, 32, 50,2

1) 60 2) 64

3)72 4)78

2,6, 115 18 285 Y

1)32 2) 36

3)40 4)42

125, 105, &7 0T 1

1)45 2)44

3)46 4)48

4,10, 22,46, %4, ?

1) 190 2) 200

3)210 4) 220

4 58 912 13
26 114 ?

2 36 710 11

1)236 2) 246

3) 266 4)256

ASD, EI2G CIlIH, ?

1) DISK 2) C6K

3)Dsl 4)F10C




P. 7,10,8 11, 9, 7 13 -9, 8,11, % 2

1)8 2)10 )8 2) 10
3)12 4) 14 3) 12 4) 14
14. 23,35,57,711,? 14.  23,35,57,711,?

1)713 2) 1113 1)713 2) 1113
3)911 4)913 3)911 4)913
Direction (Q.15-22) : In the given figures some feom Frder (wo 15-22) : few ma fesii 4
rule is followed. Identify the rule and fill in the Fo Fram st 7 € 1 3 Fredl 6t vemm
blank space out of given options. L @relt ST 91 99 fag & e w fou

e fasredi | 9 g
9 {11
9 |11
15.
21 17 15.
21 17
1)27 2)29
1)27 2)29
3)23 4) 35
3)23 4)35
142
’3 !@ N RS
16.
34 7 16.
KT?/ 34 i
\9}
1)72 2) 66
1)72 2) 66
3)70 4)68
3)70 4) 68



17.

18.

Given a matrix of certain characters. These 17, e e e ¥ o forfi ieqor & 4 wammn

characters follow a certain trend. Find out u fafaa wafe =1 9o 3 § 39 w9 H
this trend and choose the missing number g R ST T i udl T |
accordingly.
42 | 44 | 38
42 | 44 | 38
23 | 55 | 28 23 1358 7%
(?
1)22 2)33 )22 2333
3) 66 4)77 3) 66 4)77
1 11
i 5 z :
6 |5 | 4 18. ¢ A 1T
?
A 5 8 5 4 3 8

)5 2)6
) 4)8

= v D
OJOXOXO O®O O

1)8 2)9 18 2)9
3) 10 4) 11 3) 10 411



20.

21,

22

1)48 2) 64 1)48 2) 64
)1 4) 80 3)72 4) 80




Direction (Q.23-25) : Identify the rule and 3% (Wo23-25) :Frm 1 v qan fau
fomredl 9 | W& I 9fw)
CAT:FEY:RAM:?

1) UER 2) UEQ
3) TER 4) UFR

choose the right answer.

23. CAT:FEY:RAM:?
1) UER 2) UEQ
3)TER 4) UFR

24. 4,18,2,100,180,294.448
1)48 2) 50
3) 58 4) 60

25. BARC:DgAH :4513:?
1) £le4 2) Eelp
3)erep Eley

Direction : (Q26-40) Three problem figures are
given. Select a figure amongst the answer figures
which will continue the same series as given in the

problem figure.
Problem Figure ( gw&m fax)

alc d|b c

26. 4

* blb

[ =
\¢.
b
LR
0
}Q
.

~

Le}

27.

X
=
™

= )
1713-
w; o
“F
w ~
n w
B

28.

29.

"B IR

Q 0O

23,

24.

25,

4,18,2,100,180,294,448
1) 48 2) 50
3) 58 4) 60

BARC: D) gAH :4513:?
1) €4 2) 21h
3) Eleh 4 eIy

faom 9T (Wo 26-40) : WAF Y | o
g faafee mE i swfasi 4 @ 9%
ot g+ it foF wwen fa3 8 & € gaen.

% S T 2
lAnswer l; igure (3?;'(%‘:?)

<
AN




4

2

Answer Figure (3@tfea)
3

Problem Figure ( #9@r fa= )

-14
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inm
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9,
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=
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<
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1T#@ @ 2@ # )
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35.&/@\

37. TQ 1@“ TE ?

39.

40.




41.

42.

Di

In the following figure, the girls who are
dancers and disciplined are indicated by
which number? girls

5 disciplined

10
~dancers
A

1)3 2)6
3)4 4) 1

If South-East becomes North, North-East
becomes West and so on . What will West
become?

1) North-East
3) South-East

2) North-West
4) South-West

rections (Q. No. 43-46): The figure given

below, consists of three intersecting circles which
represents sets of students who play tennis,
badminton and basketball. Each region inthe figure
is represented by a Capital Letter. On the basis
of this figure, answer the quetions given below:

43,

Tennis b%g Badminton

Basketball

Which letter represents the set of students
who play all the three games?
1)B 2)C
3)G 4)F

4. S s el S g a
T €, o e g i 8 &2
5
) | g
e fu
3 9
O
A
1)3 2)6
3)4 4H1
4. At fu-gd A IR F WY, SH-G4 A
fe Fel S 61 A TR, o ufvEs o @
el ?
1) -4 2) SW-9fv=m
3) afgu-gd 4) <fao-ufem

fRwr (WH. 43-46) : M feu u fam § dH

43,

WER e LA gd feu e ¥, S 39 o |

H vl W@ & i 2fm, Sefue six
ATEReETe Werd ¢ | Woieh & i S7is &
o quil | T T § 1 59 oA % enun
R 3 fou wel & 3 fad |

Basketball

FIF-91 avl 39 &5 H) Ui T S gt
o @ @ea © |
1B
3)G

2L
4)F




44,

45,

46.

Which letter represents the set of students
who play both tennis and Basketball but
not badminton?

1B 2)E

3)C 4G

Which letter represents the set of students
who play both tennis but neither badminton
nor basketball?

1) €
3)B

A
4D

Which letter represents the set of students
who play tennis and badminton but not
basketball?
1)D
3)C

2)B
4 F

Direction (Q47-50) : The following questions are

47.

48.

49.

50.

based on the information given below:

All the faces of'a big cube are pained with
blue colour.

The cube is cut into 64 small and equal size
cubes.

How many of cubes have one face coloured ?
1)4 2)8
3) 16 4) 24

How many small cubes have no face

coloured ?
1) 24 2)8
3) 16 4)0

How many small cubes are there whose
three faces are coloured ?

1)4 2)8

3) 16 4)24

How many small cubes are there whose
two faces are coloured ?
1o

3)16

2)8
4)24

44, HF-b vl 39 SE FI i@ § S 2=
3R ATEhRe Jict TH1 @eld § afehd defHed
&l Wed ?
1)B 2)E
3)C 4G
45.  HF-91 90 39 BTE B guiar g S
Tad € dfer arehe aia i Sefded
T @ed |
NC HA
3)B 4)D
46. ®A-T vl 39 BE FI w@ & S
3 Fe=fhea 3 Gerd § afea anahe dfa
T |era ?
D 2)B
3)C 4)F
fader (wH. 47-50) : feu Mo wer Frefafaa

47.

48.

49.

50.

a9 | € |

1. U o 79 1 et 18 T fem
TR

2. 39 93 UH Fl 64 BIE TG TAH
SUE ATHR F T4 H HE =R

Tera™ i 91 o U add T 8 2
1)4 2)8
3)16 4) 24
o o1 54 1 Fig ot 9 i 781 € 2
1)24 2)8

3) 16 4)0

o B2 w41 & 9 aa T 8 2
1)4 2)8

3) 16 4)24
oo B2 w4 & < a7 T & ?
)0 2)8

3) 16 4)24




Direction (Q.No. 51 to 55) : Select the combination

-1

44

53.

54.

55.

of numbers so that the letters arranged accordingly
will form a meaningful word.

E RAWLY

b: 2.3.-4, 56

1)3,2,1,4,5,6
2)-9; 37yl 2
3) 54:3,601,2
4)3,1,4,5,6,2

O B BTYTR
"2 3 '4"5 6" 78
1383, 35, 152,76, 4
2)8,1; 3,5, L 24,6
3) 6,3,54,2,7,1,8
4)8,1,5,3,7,2,4,6

E U "MUNECEO
1,2. 3 % nsGin?
176, 7.4, 3, 25153
2)6,7,3,4,1,2,5
3) 65T, 3,3, 2,4, 1
4)6,7,3,2,4,1,5

ETHT NKC
17278 ARG

13552517, 3, 1,4, 6
2)6;2,4,7,3,15
36,2, 1,43, 5.1
4)6,2,7,3,4,15

CNHSES P
1.2 34 5 6.7
1) 3, %06,1,3,. 2.4
219 1 156,23, 4
3)>,7,4,2,6,1,3
4)5,7,4,6,2,1,3

51.

52

53.

54.

3.

fader (WH. 51-55)ag {Hi H1 98 I
foad o ER @A W fgd U A T
refqol s ST |

E RAWLY

1 234 56

1)3,2,1,4,5,6

2)5,3,4,6,1,2

3)5,4,3,6,1,2

4)3,1,4,5,6,2

B.O.1.4C, S D MR
heZni B4 05 Brrd B

1)8,3,5,1,2,7,6,4
2)8,1,3,5,7,2,4,6
6058271, 8
4)8,1,5,3,7,2,4,6

EUS MNC O
123 4 5°6 1
136, T.4.3:2, 1.3
96,7.3, 41,25
3)6,7,5,3,2,4, 1
4)6,7,3,2,4,1,5

EIHTNKZC
T gl it Sk
15, 2:7. 3. 0.6
2)6,2,4,7,3,15
3)6,2,7,4,3,5, 1
4)6,2,7,3,4,15

-

CNHISAP
1 "2Y'3 4 5 67

1)5,7,6,1,3,2,4
2)5,7,1,6,2,3,4
3)5,7,4,2,6,1,3
4)5,7,4,6,2,1,3




56.

-

58.

59.

60.

61.

Which letter will be 11th to the left of 20th
letter from the left ?

I)H 2)1

3)J 4) K

Which letter will be 8th to the right of 12th
letter from the left ?

1) 2)U

HT 4R

Which letter will be 6th to the right of 11th
letter from the right?
DQ

3)S

2)V
4HG

Inacode language STAR =50 and CIRUS
=65 then PLANET will be

1) 68 2)78

3) 84 4) 94

Ifit was Sunday on 15th February, 2000,
what day was on 15th January, 2013 ?

1) Saturday 2) Tuesday

3) Wednesday 4) Friday

In a ground, there are some men and dogs
who have 77 heads and 224 legs.What is

the number of dogs ?
1)35 2)42
3)51 4)54

Directions (Q. No. 62-66) : Study the data given

below and answer the question that follow:
A, B, C,D,E, F and G are the seven
members of a family, there are two married
couple and two children in 3rd generation.
G is B’s mother

D is E’s mother

FisC’sson

BisE’s Aunt

wn

60.

8.

o8 SR | Fe W 209 90 & 9@ @7
1190 a0l HH-J1 81 ?

)H )1

3y 4) K

T AR | T 9 124 90 F Tt SR
841 9o FH-|1 81 ?

NS 2)U

)T 4R

TEl 3R A =Fed W 119 avf F et iR
631 U1 HIF-91 B 2

HQ 2)V

3)S 4)G :
et F2 W § STAR = 50 3R CIRUS =
65 @ @& PLANET =1 811 ?

1) 68 2)78

3) 84 4) 94

7fg 15 wEd 2000 &1 FEa” o1 @ 15
T 2013 I FHIF T G BN ?

1) wifFEr 2) HTEER

3) 994 4) YHAX

wF TeF | 79 F9 S FS [eN ¥ e
Fa fgen =2 77 faw 9 224 2 ¥ sy
il 1 HEA 41 g0t ?

1)35 2)42

3) 51 4) 54

faom Frder (. 62-66) : = fed U s @

I T a9 F IW |
A,B,C,D,E, F a9 G U& 9fE@R & 7
TeE ¥ I W U e ae 9
el it & o= € )

G, B &1 Trar <t €

D, E 1 Hrar it &

FCHRYAR

B, E %1 ==t &




62. HowisDrelatedto B? 62. DwIBAFfigme?

1) Sister 2) Sister in law 1) s&4 2) st
3) Mother 4) Aunt 3) |rn 4) ==t
63. IfCisB’shusband. HowisFrelatedto E? 63. aRB&Hfa C e F & E @ = fwai 2 ?
1) Brother 2) Sister 1) wg 2) =&
3) Cousin 4) Can’t determine 3) TEU HIE/AET YT
64. IfAisG’sson, how is A related to F? 4) Tafyga =1 fean s gaar
1) Uncle 2) Father 64. ACGHTFARAFHFAR FNfwae ?
3) Cousin 4) Brother 1) =r=n 2) faan
65. Whois s father ? 3) == o 4) Wrg
1)B 2)A 65. Ewfumamz?
3C 4)G 1)B 2)A
66. How many females are there in the family? 3)C 4G
1)3 2)4 66. ufER ¥ faet feaal € 2
3)5 4) Can’t be determined 1)3 2)4

3)5  4) fafvaa &l fea 5w
67.  Identily the figure that completes the pattern: g7 3q AFa i geIH FL A @ TR

Hﬂ‘{uf?ﬂ?ﬁ%
G e e e B
7 = e
i - e e o) [ I Lol )b
a b c d
a 2)b O
3)c 4)d ha b
J)c 4)d
68. :N::t\\(;13lhedayonZ()t:ﬂ?lrov,s(lj‘)?(). 68. 26 TR, 1976 F -7 fed o172
. e 2 Iy 1) dER 2) HTETER
3) Thursday 4) Friday
3) 9@ 4) AR

Instructions (Q.No. 69-72) : Study the given
information carfefully and answer the

o (WH. 69-72) : fau T AL F AF A B

: 1 Frefafad wei &1 3w
\ - 1.A,B,C,D,E, F 3l G 0 fear a3
1.A,B,C, D, E, Fand G are sitting on a wall ‘é‘mtﬁwﬁgqﬁﬁaﬂr%l
and all of them are facing east. 2. D% useH T iR C 1
2. Cis on the immediate right to D. 3. B A BR W siRSHHI TS ER |
3.Bisatan extreme end has E as his neighbour 4. E3RFFIAGE
4. G is between E and F 5. D =feqoft foy | et =m W

5. Dissitting third from the south end.
12



69.

70.

a1

72.

Who is sitting third from the north end?
DA 2)D

3)F 4)G

Which of the following pairs of people are
sitting at the extreme end?

1)AB 2)AC

3)CB 4)CG

Name of the person with whom C should
change places such that C gets the third
place from the north end?

HE 2)F

3)G 4D
Immediately between which of the following
pairs of people D is sitting?

1)AC 2)AF

3)CE 4) CF

Instructions (Q.No. 73-76) : Read the following

73

74.

information carefully and answer the
questions which follows.

If A x B means A is the father of B

If A+ B means A is the wife of B

If A+ B means A is the daughter of B
IfA— B means A is the son of B

How is L related to Q in the expression
L+MxO-P+Q
1) Grand Daughter
3) Daughter in law

2) Niece
4) Daughter

How is L related to O in the expression ?
L+MxO-P+Q

1) Sister

2) Brother

3) Daughter

4) Wife

13

69.

70.

Tk

12.

Il R A e A WA § 2
A 2)D

3)F 4G

g0 ¥ FiA-91 el A BRWE ?
1)AB 2)AC
3)CB 4)CG

39 Afs &1 99 =ad (996 99 ©|H
Fgeod W C 390 81 4 da WH w®
A ?

DE 2)F
3)G 4)D

D, 378 4§ fog SIg & uwen g | Sa
2

1)AC 2) AF

3)CE 4) CF

frder (WH. 73-76) : <1 T8 SIHEHRI % ATER T

74.

3 fgu Tyl & IS
AxBHI A4 BH faa AR
A+BFI S48 BHIUGT AR
A-BRAITB R T AR
A-BFRAGEBFIAAR

L& R% &g 741 fmar &2
| ) gt et

2) st/ S

3) 9%

4) At
LFOF oy 7 fwm &2
L+MxO-P+Q

1) =&

2) g

3) a2t

4) vdlt



713,

76.

77.

78.

19

What will come in place of the question  75.
mark to establish that Q is nephew of T in
the expression.

Q?R+SxT

by 2) x

3) - 4) None of these
Which relation is true according to
expression ?

‘A-BxC+D-F’

1) C is mother of A

2) Eis wife of B

3) D is brother of A

4) None of these 77.

How much does a watch lose per day, if
its hands coincide every 64 minutes?

76.

8
32— mi
1) 1]mm

5
2) 36ﬁ min
3) 90 min

10
4) 34ﬁ min

At what time between 5 and 6 will the 78
hands of'the clock Coincide? |

3

1) 27ﬁ min past 5
o

2) 34ﬁ min past 5
B

3) 24ﬁ min past 5

3
4) 25 7 min past 5

A watch reads 4:30. If the minute hand
points East, in what direction will the hour
hand point?
1) East

3) Sout-East

2) West
4) North-East
14

$ 2 ¥ WA W wE-41 faw s faad
qa =g ff T W Q ® 1
Q?R+SxT

1)+ 2) x

S 4) 779 4 18 ot 7
FA-91 foa <1 8 sAfvsafa & muR W
g2

‘A-BxC+D-E’

1) C, A st o &

2)E, B %1 ueit &1

3)D, A WE B

4) 578 | FE off 72

af 72 64 e & @18 9t 1 g3ai 9™

H fuerdi € @ Q@ & fea # ug fwam
THY HH Fana ?
1)321—8]fq=|z

2) 36|—51 e

3) 90 fHae

|
4) 3432 firre

Ui g B: a9 & oA fHE G99 g Hl
T4l am9d ¥ fiyeit ?

1y e 27%?«21:1
b P

2) 9" &9 & 34ﬁ e W

3) ure &9 :24|—2I fie R

4) 9re oS F 25% e W
T U H 4:30 991 2, Al e 1 g

feam & 21 <t woe =it gE form fawn &1 @&
??

1)qd 2) ufy=d

3) gféu-ufyem 4) IT-g4




e e

80.

81.

82.

Directions (Q.No. 83-87)

83.

84.

In a class of 60 students where girls are
twice that of boys, Laxmi ranked 27th from
the top. Ifthere are 9 boys ahead of Laxmi,
how many girls are after her rank?

1)23 2)21
3)22 4)24

How many pairs of letters are there in the
word “CASTRAPHONE” which have as
many letters between them in the word as
in the alphabet?

)3 2)4

3)5 4)6

In a class of students, if one is absent rest
of the people can be divided into 6 equal
parts and if two are absent rest of them are
divided into 7 equal parts, how many
students are present in the class?

1)31 2) 37

3) 25 419

: Mr. and Mrs Gupta
were married in November and their
children Sahil and Sonia are November
born too. Sahil’s birthday is celebrated 10
days before Sonia’s birthday and 7 days
after the marriage anniversary of parents.
The marriage anniversary of parents was
celebrated on 2nd Monday of November.
The last day of November was Sunday and
Sahil’s birthday was also on Monday.

What is date of birthday of Sahil ?
1)15 2) 16
3)17 4)18

What is the day and date of birthday of
Sonia?

1) 27, Wednesday

2) 26, Wednesday

3) 26, Thursday

4) 27, Thursday

80.

81.

82.

U UH hen, foad 60 famndf € 3w
efehal w1 Hea dagl | gl §, § aedl
TR Y 27 3 H WE | 3R A& ¥ 3@

9 TeHh ¥ o welt & NS frat erefwar
&t 2

1)23 2)21

3) 22 4)24

vz # U quif & e sirg € foe o
H 3 € avf € faaq i aviaen #
3% o AT |

1)3 2) 4

3)5 4)6

& Feql § Afg U B SAqurerd 8 S o
anifer faenfefai <1 : soer fewdi § afer s
a1 € 3R afe S srufeed & @ aifwal
H g SR el | sie w1 gt 2
e # fopa faened €1
1)31

3)25

2) 37
4)19

fader (wH. 83-87 ) : dwfa wd gwF T Fi

83.

84.

et FareR H g3 3R 39 Sl 9 |ifed
3 Hifqan off e # ¥ gu | wfew
H1 9Hfeq difa & SHfed 4 29 fea
e g Hal-faar 1 faawe it adis &
o feq = A s € | wa-faa St
VISt SIS AR % gEL AR HI T
T 3R Farar 1 3ifan feq faar a1 au
Hifed 1 Safcad it GrHar i 91|

wifea i o faeft ;M T 2
)15 2) 16
3)17 4)18

Hifran & 5 &1 Tt vd feegm s €2
1) 27, 9HaR
2) 26, FHAR
3) 26, HER
4) 27, dER




|

Directions (Q.No. 85-87) : Amit, Anil, Aditya,
Om, Daksh and Yash compete in a
swimming race. The outcome are as follow:

1. Anil does not win.

2. Only two swimmers separate Daksh and Om.

3. Amit is behind Om and Daksh.

4. Anil is ahead of Daksh with one swimmer

intervening.

5. Yash is ahead of Om.

On the basis of above information answer
the following questions:
85. Who stood fifth?
1) Amit 2) Aditya
3) Daksh 4) Yash
86. How many swimmers seperate Amit and
Yash?
1 2)2
3)3 4)4
87. The Swimmer between Aditya and Daksh
is.
1) None 2)Om
. 3)Anil 4) Amit
88. Choose a figure which would most closely
resemble the unfolded form of Figure (Z).
X
(1) (2) (3) (4)
1)1 2)2 3)3 4)4
89. Choose the alternative which closely

resembles the water-image of.
‘NUCLEAR’
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90. Choose the set of figures which follows the  90.

givenrule.
Rule: Closed figures losing their sides and open
figures gaining their sides.
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91.  Choose the Cube that is similar to the cube
formed by folding the given sheet of paper
(X).

EéT

(x)
(o)
®
(1) (2) (3)

1) 1 only

2) 1 and 3 only
-3)1,3and 4 only
4)1,2,3and 4
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92.  Find the number of triangles in the given

figure.

1) 18
3)24

2) 20
4)27

93.  Find out which of the figures (1), (2),3)
and (4) can be formed from the pieces given

in figure (X).
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1)3 2)2 - 31 ~434
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94. Find out the alternative figure which
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95.

A cylinder is painted in 6 colours-Orange,
Red, Blue, Green, Yellow and Black. The
three positions of the cylinder are as follows.
Looking at these figures, indentify the
correct colour in place of *?”

Black
Yellow
range ue ack
1) Red 2) Blue
3) Green 4) Black

96.

97.

How many dots lie opposite the face having
three dots, when the given figure is folded
toform acube?

..
b

1)2 2)4
3)5 4)6

If dice is numbered from 1 to 6 in different
ways. If 1 is adjacent to 2, 4 & 6, then
which of the following statements is
necessarily true

1) 2 is opposite to 6

2) 1 is Adjacent to 3

3)3isAdjacentto 5

4) 3 is opposite to 5

Instruction (Q 98-99) : Study the pie chart and

information given below and answer the

following questions. There are 1960 students
in the school who opted Gardening as a
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98.

99

100.

How many students have Drawing as a
hobby?
1) 3200
2) 4200
3)3220
4) 4220

What is the total no. of students in the
school?

1) 14100
2) 14120
3) 14000
4) 14200
Rashmi walked 20m towards north. Then
she turned right and walks 30 m. Then she
turns right and walks 35 m. Then she turns
left and wallks 15 m. Finally she turns left
and walks 15 m. In which direction and
how many meters is she from the starting
position ?
1)15m

2)30m

3)30m

4)45m

west
east
west
east
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